

PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICE Invoice Number 1

Invoice Date: Mar 13, 2014

Page:

1

Customer ID	Field Ticket#	Paymen	t Terms
Murfin	62582	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Mar 13, 2014	4/12/14

Quantity	ltem	Description	Unit Price	Amount
1.00	WELLNAME	Goetz #1-32		11. (1.1 Market 2. Mark 2. Ma
180.00	CEMENT MATERIALS	Class A Common	17.90	3,222.00
6.00	CEMENT MATERIALS	Chloride	64.00	384.00
189.00	CEMENT SERVICE	Cubic Feet Charge	2.48	468.72
304.98	CEMENT SERVICE	Ton Mileage Charge	2.60	792.95
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
35.00	CEMENT SERVICE	Pump Truck Mileage	7.70	269.50
1.00	CEMENT SERVICE	Manifold Rental	275.00	275.00
35.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	154.00
1.00	CEMENT SUPERVISOR	Alan Ryan		
1.00	EQUIPMENT OPERATOR	Kevin Ryan		
			:	
			1	
			·	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2,477.45 gh

ONLY IF PAID ON OR BEFORE Apr 7, 2014

Subtotal	7,078.42
Sales Tax	293.89
Total Invoice Amount	7,372.31
Payment/Credit Applied	
TOTAL	7,372.31

ALLIED OIL & GAS SERVICES, LLC 062562 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT:
DATE 3/13/14 SEC, 2 TWP. RANGE 2)	CALLED OUT ON LOCATION JOB START JOB FINISH
	TO FATE CLUB NOTOT Sheriller STORES
CONTRACTOR MUSCIN DY TYPE OF JOB SUNFAIL	OWNER Same
HOLE SIZE 13/14 T.D. 230' CASING SIZE 18/18 DEPTH 230'	CEMENT AMOUNT ORDERED LEO Com 370CC
TUBING SIZE DEPTH DRILL PIPE DEPTH TOOL DEPTH	
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT	COMMON_180 @/>90 3200000
CEMENT LEFT IN CSG. /5' PERFS. DISPLACEMENT /3.17.585 EA.	GEL © 692 38420 ASC ©
EQUIPMENT	ASC @
PUMPTRUCK CEMENTER HOW PUCH #4328/ HELPER KOUN RICH BULKTRUCK	@
BULKTRUCK DRIVER THANT (TWS)	@
# DRIVER	HANDLING 189.000 G & 468 72 MILEAGE 2 TON MILE 8.714 TON 792 27
REMARKS: Ban Cay, Cirulate, Mix Conent	TOTAL 4867 69
Diffore Coment, Sheet w.	SERVICE DEPTH OF JOB
Coment Did Graphite	PUMPTRUCK CHARGE /5/2
Hay Kelin Jun	MILEAGE 35 miles @ 72 269300 MANIFOLD @ 205000 Gto Vehi: cle 35 miles @ 440 754
CHARGE TO: Mar Fin Prilling CO	e
STREETSTATEZJP	TOTAL 22/0
<i>O</i>).	PLUG & FLOAT EQUIPMENT
Tot Allied Oil & Con Condens VI O	@ @
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	TOTAL
TERMS AND CONDITIONS" listed on the reverse side.	TOTAL CHARGES 707844
PRINTED NAME AnThony Martin	DISCOUNT 2.477.45 IF PAID IN 30 DAYS
SIGNATURE (MILES)	1,000.70



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE Prod-LH

Invoice Date: Mar 20, 2014

Page:

Customer ID	Field Ticket#	⊯ ∌Paymen	t Term's
Murfin	61991	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Mar 20, 2014	4/19/14

Quantity	ltem .	Description	Unit Price	Amount
1.00	WELL NAME	Goetz #1-32	1. W. Con A.7 (164 PK)	
132.00	CEMENT MATERIALS	Class A Common	17.90	2,362.80
88.00	CEMENT MATERIALS	Pozmix	9.35	822.80
7.00	CEMENT MATERIALS	Gel	23.40	
55.00	CEMENT MATERIALS	Flo Seal	2.97	163.35
236.27	CEMENT SERVICE	Cubic Feet Charge	2.48	585.95
331.10	CEMENT SERVICE	Ton Mileage Charge	2.60	860.86
1.00	CEMENT SERVICE	Plug to Abandon	1,250.00	1,250.00
35.00	CEMENT SERVICE	Pump Truck Mileage	7.70	269.50
35.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	154.00
1.00	EQUIPMENT SALES	8-5/8 Wooden Plug	110.00	110.00
1.00	CEMENT SUPERVISOR	Kelly Gabel		110.00
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
			i	
				ĺ
		Subtotal		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,321.57

ONLY IF PAID ON OR BEFORE Apr-14, 2014

Sales Tax	6,743.06
Sales Tax	549.56
Total Invoice Amount	7,292.62
Payment/Credit Applied	. , , , , ,

ALLIED OIL & GAS SERVICES, LLC 061991 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT:
	Cakley KS
DATE 3-20-14 SEC. TWP. S RANGE 27 W	CALLED OUT ON LOCATION JOB START JOB FINISH A
LEASE GOOTZ WELL 1-32 LOCATION POOL	COUNTY STATE
OLD OR NEW (Circle one)	FDICOlub NtoT Sheridan KS
OLD OR (EW) (Circle one) 3 N 1/2 W A	into
CONTRACTOR MULLIN#24 TYPE OF JOB PTA	OWNER JOIN O
HOLESIZE 77/8 T.D. 4215	COMPAND.
CASING SIZE DEPTH	CEMENT
TUBING SIZE DEPTH	AMOUNT ORDERED 220 5K5 60/90 P02
DRILL PIPE DEPTH	490gel Kiffflo-seal
TOOL DEPTH	
PRES. MAX MINIMUM	501 WOV 17 17 17 17 17 17 17 17 17 17 17 17 17
MEAS. LINE . SHOE JOINT	COMMON
CEMENT LEFT IN CSG.	POZMIX 885K@ 936 823 68
PERFS.	GEL 75K5 @ 2340 16380
DISPLACEMENT	CHLORIDE@_
	ASC @
EQUIPMENT	Flo-sea 55# @ 297 16335
	@
PUMPTRUCK CEMENTER Kelly Gabel	
# 422 HELPER Bayne McGhohy	
BULKTRUCK	@
#341 DRIVERT homas (Tws)	@
BULK TRUCK	
# DRIVER	HANGING DAY TO A
	HANDLING 236.27 C444 @ 245 58595
DDMADUC.	MILBAGE 9.416+OPX 35X250 860 86
REMARKS:	TOTAL 4920 84
_25@230O	
400 @ 1450	SERVICE
40@ 270	
10@ 40	DEPTH OF JOB
30RH	PUMPTRUCK CHARGE 1250CO
15 M H	EXTRA FOOTAGE @
Thankyou	MILEAGE MIHV 85 @ 770 269 50
Kellyacteus	MANIFOLD@
•	MILV 35 @490 15400
_	9
CHARGE TO: Muttin	
	TOTAL 167350
STREET	101AL 1077
CITYSTATEZIP	
2011	PLUG & FLOAT EQUIPMENT
	•
Tot Allied Oil & Goo Sendan II C	1-898 wonden Plage 11000
To: Allied Oil & Gas Services, LLC.	1- 8 78 CONCENTAGE
You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was	00
done to satisfaction and supervision of owner agent or	TOTAL 11000
contractor. I have read and understand the "GENERAL	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
	TOTAL CHARGES 6 704.34
mounts Auto Marte	
PRINTED NAME Anthony Mastin	DISCOUNT 2,308.0 IF PAID IN 30 DAYS
M · M · t	4,396.30 Net.